
1 2 3 4 5 6 7 8 9 10 11 12

1 दधू म ेगाय 53 0 4 57 0 1 3 0 0 53

2 शçुक गाय 55 0 4 59 0 3 4 0 0 52

3 Ĥͧश¢ण हेतु 11 0 0 11 0 0 0 0 0 11

4 औसर 155 0 2 157 0 0 1 0 0 156

5 मादा बÍचे 34 4 0 38 0 0 2 0 0 36

6 सांड बछड़े 19 0 1 20 0 8 0 0 0 12

7 नर बÍचे 44 0 0 44 0 11 1 0 0 32

371 4 11 386 0 23 11 0 0 352

1 दधू म ेगाय 0 0 0 0 0 0 0 0 0 0
2 शçुक गाय 0 0 0 0 0 0 0 0 0 0
3 औसर 6 0 0 6 0 0 0 0 0 6
4 मादा बÍचे 0 0 0 0 0 0 0 0 0 0
5 नर बÍचे 0 0 0 0 0 0 0 0 0 0

6 0 0 6 0 0 0 0 0 6

1 दधू म ेगाय 1 0 0 1 0 0 0 0 0 1
2 शçुक गाय 1 0 0 1 0 0 0 0 0 1
3 औसर 8 0 1 9 0 0 0 0 0 9
4 मादा बÍचे 4 0 0 4 0 0 1 0 0 3
5 नर बÍचे 10 0 1 11 1 0 1 0 0 9

24 0 2 26 1 0 2 0 0 23

दधू म ेगाय 14 0 0 14 0 0 0 0 0 14
शçुक गाय 17 0 0 17 0 0 0 0 0 17
औसर 14 0 0 14 0 0 0 0 0 14
मादा बÍचे 10 0 0 10 0 0 0 0 0 10
नर बÍचे 8 0 0 8 0 0 0 0 0 8
सांड बछड़े 3 0 0 3 0 0 0 0 0 3

66 0 0 66 0 0 0 0 0 66

eknk cPps 1 0 0 1 0 0 0 0 0 1

468 4 13 485 1 23 13 0 0 448

1 Ĥͧश¢ण हेतु गाय 13 0 3 16 0 0 0 0 0 16
2 सांड @cSy 48 0 25 73 1 0 0 0 0 72

61 0 28 89 1 0 0 0 0 88

1 Ĥͧश¢ण हेतु गाय 4 0 0 4 0 0 0 0 0 4
2 सांड @cSy 2 0 0 2 0 0 0 0 0 2

6 0 0 6 0 0 0 0 0 6

67 0 28 95 1 0 0 0 0 94

535 4 41 580 2 23 13 0 0 542
* TWH - TRANSFER WITHIN THE HERD.
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